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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two Sections :

Section A — Macro Economics

Section B - Indian Economic Development

This paper contains 20 Multiple Choice Questions Type questions of 1 mark

each.

This paper contains 4 Short Answer Questions Type-I questions of 3 marks

each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks
each to be answered in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

Attempt all parts of a question together.

SECTION A

Macro Economics

An Indian company receives a loan from a company located abroad. This
transaction would be recorded on the side of
account in India’s Balance of Payment.

(Choose the correct alternative to fill up the blanks) 1
(a) Credit, Current
(b) Debit, Current
(c) Credit, Capital
(d)  Debit, Capital

58/4/3 3> 5 P.T.O.
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2. Tafafad ®eAi 1 eaHgEs ufeu
Fg71: wifash ot § ghg AT ¥ (inventory) H IREwH i FHawr & &9 |

giTiq fomam STaT 2 |
FYT2: M % Ao TR T IEdfdeh a9 9 qaide dad ded SUeR gid
g |
feu U At & ST |, Fefifiga § @ wE foehew 1 = HifNw 1

(a) YT 1T 8 T HAT 2 37EH 8 |
(b) HIT 1T 8 M FAT 2T B |
() AT 13IM2TM TR |

() YT 13 2T AEH B |

3.  AYTIEYT H GgI o T2ih ol % fofu wRd™@ fF@ s (RBI), TG&RR1
gfayfeRn ST |

(TF Tt =t Y & fow @&l fasheq &1 =@ difse) 1

(a) A B, oy

(b)  HH HH, HY

(c) =g, Tosa

(@ Imiafldd sied,

4. Tm=afafga seAi @i dfeu : sfiwmem (A) IR RO (R) | = feu U fasedt ®
T T g fashey 9T 1
STHYT (A) : g7 AR I qa1 § SR ARRAT hl HHG IT9AT G

(MPC) ¥ Bt & |
HRU(R):  JUAN I y-31& W HA-fog & SW Th fog W yldesg
(intercept) =h{dl 2

IEETR I

(a) SR (A) 3R FHROT (R) g1 T & 3 HROT (R), AR (A) i
T SIS LAl B |

(b)  AMHAT (A) JR ST (R) Al TcF 8, Afehd RO (R), AMHAT (A)
1 T AR TgT AT B |

(¢) 3P (A) T 7, Wlhd HRUT (R) AT 7 |

(d) 3R (A) T 7, Afehd SR (R) T 7 |
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Read the following statements carefully :

Statement 1: Investment is defined as addition to the physical capital

and changes in the inventory.

Statement 2 : At equilibrium level of income, ex-post investments and

ex-post savings are always equal.

In light of the given statements, choose the correct alternative from the
following : 1

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.

The Reserve Bank of India (RBI) government securities in a
bid to

the stock of money in the economy.

(Choose the correct alternative to fill up the blanks) 1
sells, decrease
purchases, decrease
sells, increase

purchases, not change

Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below. 1

Assertion (A) : Rich people have lower Marginal Propensity to Consume

(MPC) as compared to poor people.

Reason (R): Consumption curve makes an intercept on the y-axis at a

point above the origin.

Alternatives :

(a)

(b)

(c)
(d)

58/4/3

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

s> o) P.T.O.
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5. Tafafaa st =1 ufen : s1fieped (A) 3R $rwr (R) | = few o fawmedt o
T U wdl faehew gihw 1

SfYHYT (A) : AHIT ¥ IrEafas Icqred T | g ghg T8 gt 7 |

HRU(R): AW, ITEdfaeh AT d g0 USHTR &1 o &Y AM1dd AT
HET R Icqd BT 8 |

faeney

(a)  ITYHI (A) 3 SR (R) HI T & J HROT (R), ATMHAT (A) I
gl SIS LT 2 |

(b)  AMHAT (A) R ST (R) Al TcT 8, Afhd RO (R), AR (A)
1 &l AT FgT w1 B |

(¢) 3T (A) T 3, Wfhd RO (R) I8 3 |

(d) IR (A) TET B, Afehd SR (R) T 7 |

6. TAfiRad HeHl &l LAFLES deq :
FIT1: AGhA & dey H, YIaH dqed @il ded Fgictd (SeX) T 8 |

FYT2: TEA TiHed, YA e @Td el W@ & |

feu U el & A H, Efaiad § 8 wE) faeed o1 =e hifv 1

(a) YT 19T 7 N HAH 2 37WA 3 |
(b) HUT 13THT g I HA2FA 7 |
(0 HIT 1IN 2TH AA 7 |

(d) I 1R 2THN A 7 |
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5. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below. 1

Assertion (A) : Excess demand does not lead to any increase in the level

of real output.

Reason (R): Excess demand creates a gap between actual demand and

desired demand corresponding to full employment level.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

6. Read the following statements carefully :

Statement 1: Balance of Payment account is always balanced in

accounting sense.

Statement 2 : Autonomous transactions, restore balance in Balance of

Payment account.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

58/4/3 1> 5 P.T.O.



l‘%collegebatch.com
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(a) N (b) TRt
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(A)  Choose the correct alternative to fill in the blanks (i) and (ii) in the
figure. 1
1) s, 10COMC

Factors of Production

Household

S— 3 o

Goods and Services

(1) p——— Lxpenditure

Alternatives :
(a) National, Production (b) Factor, Production
(c) Factor, Consumption (d) National, Consumption

OR
(B) Operating Surplus does not include

(Choose the correct alternative to fill up the blank) 1
(a) Interest (b) Rent
(c) Profit (d) Compensation of employees

Demand Deposits include .
(Choose the correct alternative to fill up the blank) 1

(a)  Currency and coins held with the public
(b)  Other deposits with the Government
(c) Savings Account Deposits and Fixed Deposits

(d)  Current Account Deposits and Fixed Deposits

58/4/3 9> 5 P.T.O.
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9. (%) 3 Ewid s=d Iga (MPS) 0-5 7, a1 o= 70k 1 qod 91 BAT ?

(Tt fasheq =1 ==[ HIfSw) 1
(a) 1 (b) 2
(c) 1-6 (d) 145
B DE
(@) o= # T 1,200 FS H ghg &, T AT § T 3,000 HUS hl Jhg

Bt 7 | A ik 1 g B |

(Tek o WA & fore @&l fasped &1 =am difse) 1
(a) 2 (b) 25
(c0 4 d 5

10. (%) fm=faRea weAi #1 e qfeu :
H971: W 95 H qoas™ § Faia ¥ gfg g dehdl 7 |
FYT2 : ANAR TUEA TIC (T) T YoIgd o HRUT, MR SR ($)
i 33 TR § Jhg = Fehdll @ |
feu U seET & I °, efaiad # 4 @l faehed o1 ==H hifvie 1
(a) YT 19T g AN HYF 2 370 A 7 |
(b) AT 1 T g N HA 2T 7 |
(c) HIT 1IN 2T AA T |
(d) HF 13 2THl A & |

3T
(@) ugaH it fob, fF=faRad & @ 1 YT dqaq § T o7d g & | 1
(a) @rETEl w1

(b) = dA I AWM
(¢)  §.4. MR =l T Wenfieht (IT) darsti w1 fta

(d) YTd " &I HEHT 2R iR skl ST

11. AF ST Rt a¥ § T T H 6N Jod | G6hd =q 3. (GDP)
T 1,500 HUS o7 | facei & I g SR ™ T 100 HUS oAt | g ATTA
HU P eI T 180 HUS AT qAT AL 3T T 1,050 U off | fTawa
7T qergr@ o WM <l UMD i | 3
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9. (A) If the Marginal Propensity to Save (MPS) is 0-5, what will be the
value of investment multiplier ?  (Choose the correct alternative) 1

(a) 1 (b) 2
(¢c) 16 (d) 145
OR

(B) An increase in National Income occurs by ¥ 3,000 crore, as
investments increased by ¥ 1,200 crore. The value of investment
multiplier would be _ )

(Choose the correct alternative to fill up the blank) 1
(a) 2 (b) 25
(c) 4 (d 5

10. (A) Read the following statements carefully :

Statement 1: Depreciation of domestic currency may lead to a
rise in exports.

Statement 2 : Due to the depreciation of Indian National Rupee
(), purchasing power of US Dollar ($) may
increase.

In light of the given statements, choose the correct alternative
from the following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.

OR

(B) Identify, which one of the following is an intangible item in
Balance of Payment (BoP). 1

(a)  Export of food grains
(b)  Imports of crude oil
(c) Export of Information Technology (IT) services to U.S.A.
(d) Import of coal by steel company in India
11. Suppose the Gross Domestic Product (GDP) at market price of a country
in a particular year was ¥ 1,500 crore. Net Factor Income from Abroad
was T 100 crore. The value of Net Indirect Taxes was ¥ 180 crore and the

National Income was ¥ 1,050 crore. Calculate the value of depreciation
for the economy. 3

58/4/3 <> 5 P.T.O.
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12. (%) “gg 9% o ety ot qomelt & ofdia gEaey w6l SATevIehdl

@?ﬁ,%l”
F1 319 fU MU HeH T TEAd 2 ? AU I BT U HRUN Gigd qHA
T | 3
HAAT
(@) SR Fged ARRY F =] @Il ATRY H T T HiT | 3
13. ‘e srdfeyaen o, faw | glfg Usdia o W g Ifg w2 17
&t TS STeleHaEA H HH ITHM i (MPC) it TUFT i | 4

14, THRId 3G I LAHLEh MET

“2020  wd T Hea o fefoeat S (CBDC) i GureHT=al i AR &
&% fau s Rl Tyg i T % 3T, WA fod S (RBI) 7 3THER,

2022 =i fefied FUT (e-FIT) W Teh YR H1e g fomam 1”7

“e-¥UT, UgT % IUGEY UTEU! < oL Ueh Afdih foehed Y T | I8 9
AIel § Il g8 I YU T8I BIT, T [Sed B o R0 38k ATEH, 0 9
&t B4 hl a9t B 17

RBI 4 &gl & T, & IR W CBDC &I fshieadt &1 § g o g1 oIt
EBIIECY ﬁ'%lﬂ'f (legal tender)%? w9 § giriNa foram S gekdl % | I8 I &Y
T TSt Hal (paper currency) & THE B |

3TYTh 3GV I M T o YR R H=fcAfgd w1 o I T

(%) ITYH I H 3G Hold b b M Hl TgaH HIWC g fad=mT

$||\3Q |
(@) fefoea vau & foredl Q1 ol o1 Ieorg hifTT | 3+1=4
15. @YY H == $ifse fop, TR forg yor fefaftaa gro saedifa i feafa =i
Fafa & gt ® 4

(%) =HuygE ifd
(@) w3 fifd
16. 37 FATET 6
(%) el o < gEEn
(@) S=TeH AfRIY
()  HETE S aTierfhe
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12. (a) “The central bank needs to intervene under the managed floating
system.”

Do you agree with the given statement ? Support your answer with
valid reasons. 3

OR
(b) Differentiate between Surplus in Balance of Trade and Current
Account Surplus. 3

13. “In an economy, an increase in investment leads to doubling of the
national income.”
Calculate the Marginal Propensity to Consume (MPC) for the given
economy. 4
14. Read the following text carefully :

“After setting up a working group to study the possibility of a Central
Bank Digital Currency (CBDC) in India in 2020, the RBI revealed a
concept note on digital rupee (e-Rupee) on 7t October, 2022.”

“The e-Rupee will provide an additional option to the currency available
forms of money. It is substantially not different from bank notes, but
being digital it is likely to be easier, faster and cheaper.”

RBI said that it broadly defines CBDC as the legal tender issued by a
central bank in a digital form. It is akin to paper currency in a different
form.

On the basis of the above text and common understanding, answer the
following questions :

(a) Identify and discuss the function of central bank indicated in the
above text.

(b)  State any two advantages of digital rupee. 3+1=4

15. Discuss briefly, how the government can control the situation of deflation
using the following : 4

(a)  Taxation Policy
(b)  Government Expenditure Policy
16. State the meaning of : 6
(a)  Problem of Double Counting
(b)  Operating Surplus

(c) Compensation of Employees

58/4/3 <13 > 5 P.T.O.
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()  “otr T W@ g i % ufEnl w5 g S ey e
AT 3o Y w7 17
3fd fopT T TR} SoE o Ie hl YgE <hIfST o SATEHT shifsle | 4
Gi) Tr=fafaa =t wfeafya Sifs . 2
(1) USE 91l
(2) WY =TT
HAAT
A= ST 9fed Seaid shifoe for Fafalad wem grg @ stoan sr@e: 6
(i) I TF g W ST HRIU THR b FHIGHAT o A:3AEH b
3e%F ! UTtd AT & |
(ii) R GLHR o oI Teh Tored T B |
(iii)  TSTRINRT 1T ed Ggrebifa sl Icu= T 2 |

T us @

U sATferen farerma
fofest THehIa H, N & FSHRITHRUT & THUTHREET HiY IcATeH
Hacl d HOA! T ARG & T AT |

(Th ol =1 W & forw @&l fasheq o1 =@ hifve) 1
(a) g, @WrE (b)  pUH, S
(0 @, T ) T, T
el 1 wfedt i Hlfaa @ s=w= & oo SR 1 AR
ERIEICIE (T=k oM w3 & fou g fashew &1 =@ i) 1
(a) Tafafa (b) EER®
(c)  afms (d) @RS
(%) YN 9T (Carrying Capacity) 1 219 g Tk | 1

(i)  GEre fseNvl, gaSHA 6 g | S g1 918 |

(i)  GETYd TSRyl gasA 6l g § Afh gHT AT |

(iii) ST IcqTe GHTeR0T <hl AN &THdT o fiat BHT =T |

(iv) 3TERIY IcqTe YATaLor i et &mar o 3ifers g =nfay |
(T Taehed o1 =34 hife)

IEETR I

(a) @D @Gv) (b) (1) 9 (ii)

(c) (i) 9 (iii) (d) (i) 9T (iv)
3rqat
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(a) (1) “Government provides essential items like food grains almost
free to the families below poverty line.”
Identify and explain the objective of the government budget
indicated.

(ii) Define the following :
(1) Revenue deficit
(2) Primary deficit
OR

(b) State whether the following statements are true or false, with valid
reasons :
(i) High tax on higher income groups aims to achieve the
‘reallocation of resources’ objective of the Government.
(ii) Borrowings are a revenue receipt of the government.
(iii) Fiscal deficit always leads to inflation.

SECTION B
Indian Economic Development

Under the British Rule, commercialisation of agriculture resulted in

shifting of agricultural production from __ crops to Crops.
(Choose the correct alternative to fill up the blanks)

(a)  Cash, Food (b)  Cotton, Jute

(c) Food, Cash (d)  Jute, Food

markets were organised to protect the farmers from
malpractices in mandis.
(Choose the correct alternative to fill up the blank)
(a)  Regulated (b)  Periodic
(c) Daily (d  Weekly

(A) Carrying Capacity implies that .

(i) Resource extraction should remain below the rate of
regeneration.

(ii)) Resource extraction should remain above the rate of
regeneration.

(iii) Generation of waste should remain within the absorption
capacity of the environment.

(iv) Generation of waste should be more than the absorption
capacity of the environment. (Choose the correct alternative)

Alternatives :

(a) (i) and (iv) (b) (1) and (iii)

(c) (ii) and (iii) (d) (i) and (iv)
OR



21.

22,
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gureft aTifefas dqe @i g St ], SFT @t 8
danm gz | (TF wam v & foe w& fosed 1 =71 Hifm)
(a) THMI HiY (b)  Sifesk H
(¢)  YTWETd 6 (d) TEHRAE FHi
JgaH shitve fop, F=fafga @ @ H-a1 faeew yra 0 enfdfs Tiomm &
3l | gafIa 787 ¢ |
(a) SiEd o THH &R I GHTEd HE]

(b) SRR 34fd
(c) ofYe fopd H Jlg
(d) Toomfaar i SwgaTi o AT HI TicdTEd BT

sreran
1951, 9 1 Tsdiy S A SR wrAEH oy |
(fh T Wi o T T foered &1 ==A shifo)
(a) o &1 | | waieeh
(b) I &= H 9 w9 %A
(c) Trenfies &3 & +H

(d) TaT T 9 HY
IRd | & o g qifehea™ | & o ofiefe gamwi
! FeaTTd 73 off |
(Teh Tt o1 9 & o @&t faehew o1 =@ HifS)
(a) 1978, 1988 (b) 1988, 1978
(c) 1978, 1991 (d) 1991, 1988
Jrera

% AT W IR HRA ¥ M 7 |
(T T Wi o o7 9 foered &1 =@ hifo)
(a) A4 T @ (HDI) qed
(b) Hfd =k =
(c) TI=od glaustl d 9ga
(d) S 9 Saq g

e
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(B) system restores, maintains and enhances the ecological
balance. (Choose the correct alternative to fill up the blank) 1
(a) Chemical farming (b)  Organic farming
(c) Conventional farming (d)  Multi-layered farming

21. (A) Identify, which of the following alternative is not associated with
goals of economic planning in India. 1

(a) Ensuring equitable standard of living
(b) Technological advancement

(c) Increase in economic growth

(d) Promoting imports of luxury goods

OR

(B) In 1951, agricultural contribution to India’s National Income was
. (Choose the correct alternative to fill up the blank) 1
(a) Highest among the three sectors
(b) Lowest among the three sectors
(c) Lower than the industrial sector
(d) Lower than the service sector

22. (A) Economic reforms were introduced in the year in India
and in the year in Pakistan.

(Choose the correct alternative to fill up the blanks) 1

(a) 1978, 1988 (b) 1988, 1978
(¢c) 1978, 1991 (d) 1991, 1988
OR

(B) Pakistan is ahead of India in the case of

(Choose the correct alternative to fill up the blank) 1
(a) HDI value

(b) Per capita income
(¢) Access to sanitation facilities

(d) Life expectancy at birth

58/4/3 a1 > 5 P.T.O.
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= i ffeiRaa =eATsti ol SIS hH H Saeod Hifie 9 T8l faehed

I = HIT 1
(i)  HEM HAgNI HEhideh Shid

(i) T 9 BES IHEH

(iii) ~ ATeieh FERT ST I

(iv) o qoestd ArSH

%qu :

(a) (1), (iv), (iii), (1) (b)  @Gv), (id), (1), (iii)
(c) (ii), (iv), (1), (ii1) (d  @Gv), (1), (i), (iii)
frefeifad et i eaHgEs dfeu :

HYT1: A fahm @ et foreht g i aredfaes UsdT T H Ifg @ 7 |
HYT2: WHE Yol (AT J A b8 gHIl ThadH TR 7 |

feu Tu At & ST |, Fefafad § @ w8t ke 1 = i 1
(a) Y 19T 8 N HAH 2 WA 3 |

(b) hoH 13T 8 I FH 2T 2 |

(c) YT 1IN 2T AA T |

(d) e 13 2THI 3HA & |

frafefaa et = eaHgEes ufeu
FHIT 1 : ;dﬂdl Hehdeh MTIEhT ohl U T HauTHen TX&UT <hl HHT sl AT
|
FYT2: WA 9 AN i IFad GAuTies T Y= T 7 |
feu U seET % A H, faiad # 8 wEl faeed w1 =e hifve 1
(a) YT 19T 7 N HH 2 3WA 3 |
(b) YT 13T 8 AR FH2AA R |
() AT 1IN 2T A 7 |
(d) e 13 2THI 3HA 3 |
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Arrange the following events of China in chronological order and choose
the correct alternative : 1

(1) Great Proletarian Cultural Revolution
(i1))  Great Leap Forward Campaign

(iii) Introduction of Economic Reforms

(iv)  First Five Year Plan

Alternatives :
(a) (1), (iv), (iid), (1) (b)  (@{v), (1), (1), (iii)
(c) (1), (iv), (1), (iii) d)  @av), @), (i), (iii)

Read the following statements carefully :

Statement 1: Economic growth means the increase in real national
income of a country.

Statement 2: Human capital formation and Human development are
one and the same concepts.

In light of the given statements, choose the correct alternative from the
following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.

Read the following statements carefully :

Statement 1: ‘Liberty indicators’ measure the extent of constitutional
protection given to the citizens.

Statement 2 : India provides fair constitutional protection to its citizens.

In light of the given statements, choose the correct alternative from the
following : 1

(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
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26. f=fcifiga sl =1 ufew : srfiered (A) 3R wror (R) | = feu u foepedt o
CRCICHRECIS TSI 1

37T (A) : 9 7 Gl grR A Aifd’ B T IE@ ATMIF U ugA o €9
STOTT o |

FRU(R):  3HHI 3T A9 Tl G TS T SEIRI0T AT ot |
ferehed

(a) AMHAT (A) 3 HROT (R) THTI T & 3 HR0T (R), TR (A) i
gl SIS hdl 2 |

(b)  AMHAT (A) R ST (R) Al TcT 8, Afhd RO (R), AMTHAT (A)
1 &l AT TgT w1 B |

(¢) 3T (A) T 3, Wlhd RO (R) I8 3 |
(d) IR (A) ITHT 7, Afehd SR (R) T 7 |

27. Tafafiga oAl 1 qfgu : rfisped (A) 3R R0 (R) | 9 fow e foepedi o
T U Tdl faehew gihw 1
HYHYT (A) : ARG H ST GHEAT hl Yehid TgaTEm g |

FROUT(R):  ATHS-SGEAT AU Th VT Tehdh 8, Toreehl S foreft s
i TR et 1 fowersor o6 o T Siam 2 |

faeney

(a) AMMHAT (A) 3 HROT (R) T TcF 8 M SR (R), TR (A) I
gl SIS AT 2 |

(b)  IYHYA (A) 3T RO (R) THI T &, Afhd SR (R), JHAT (A)
) T AT TFT HaT B |

(c) 3P (A) T 7, Wihd HRUT (R) T 7 |

@) R (A) FEA 8, Afehd %01 (R) TF 7 |
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26. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below. 1

Assertion (A) : China adopted the ‘Open Door Policy’ as a major economic

reform initiative.

Reason (R): It aimed at industrialising the country on a massive scale.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

27. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below. 1

Assertion (A) : The nature of unemployment problem in India is

multi-faceted.

Reason (R): Worker-Population ratio is an indicator used for analysing

the employment situation in a country.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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28. UM TGO FHIfGA o ded ¥ fou v fum st samen Shifvw | 3

TIE : HHITIET J97 $act FRTAT GheTfeal & 1670 397 G871 28 % €9 T & :
forell T IamT TTeRul™ YT s faa=mr i | 3

29. (%) YA ¥ U e qomedt h Ifshan | 3T drelt bl o wuEnea shi
foa=m i | 3

AT
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28. Interpret the given picture with reference to current environmental
challenges. 3

Note : The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 28 :

Discuss any one current environmental challenge. 3

29. (a) Discuss any two problems being faced in the process of rural

banking in India. 3
OR

58/4/3 <23 > 5 P.T.O.
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(@) = fou v foF & q@T SER WRA § HRed foaor i Jhid &
foveur 3 qern i 3

Tr
' =
s
=
'

30. “AMa YSil haw TEIHAT hl W TG il 8, TS Dl A1 |7 U 7T oM 1
ga 31YET e HINT | 4

31. N fdU T ATehsi ¥, Hohel Yoo Jlg / Tohel =Xl 3cUTG hl TGN § WA 9 =H

% SAIR IMEH ! T it | 4
FHA GoT hy | ToheT TR Ic915 § &FTR TG (% F) (2018 - 19)
&3 YR 7
Eat| 16 7
M 30 41
gamd 54 52
F 100 100

32. 1991 1 3nfdies Gur Ufsham & H, WRA THR g1 Iy fepu T focfia &
4 gaf¥q forral e ISRl U <hl I=i shifag | 4
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(b) Analyse and compare the nature of the workforce distribution in

India as depicted in the diagram given below : 3

Distribution of Employment by Region
Urban Workers Rural Workers

Hﬂl Casual Wage Labourers ,ég Regular Salaried Employees

T
' =

==4 Self-employed

= =

30. “Human Capital benefits only the owner and not the society.” Defend or

refute the given statement. 4

31. From the data given below, compare and contrast India’s and China’s
sectoral contribution towards GVA / GDP. 4

Sectoral Contribution to GVA/GDP (in %) (2018 — 19)

Sector India China
Agriculture 16 7
Industry 30 41
Services 54 52
Total 100 100

32. Discuss any two liberalisation measures pertaining to the financial
sector, introduced by the Government of India during the economic

reform process of 1991. 4
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33. (%) () Y &= H AN fhT TC YH GURI 1 JELIHRAT X 3Th T

i =TT HIfT | 3
(i) AT FEY & GRE SEfies fasm O gEwfe &5 & &
3Tyt ffeRt 1 G TS off ? e T | 3
3Tt
(@) () e Hhifve 6, gar @ § N & & s
fwareT & o R @ # | 4
(i)  fguefta o sguef =R § fadg HIV | 2

34. fmfIfEd 3G i =aHYE® dfeu :

TGS gRT el o gk TZU0
JFER, 2014 ¥, YRA TR + FEE A T IS (SAGY) TS Th =5
ST hl AT I | 8 AT o AATd WA o ST bl Teh TNid hl TgaH
H IR fIehfia T 6l AEeIHRal g | & S & oY, TEe 98 2016 Th
Ueh HISHA Tid & &Y § Ueh g ohl faehfid o Hehd & 3T g9 2019 I q 3TN
e foespfad & &, 9Ra ° 2,500 ¥ 31feres Tl ol GfFfdd S 6l T 8 |
AT o GaTfeeh, Tid o BT ATl T 3,000 — 5,000 3T T8TEr AT
1,000 — 3,000 T TS Bl Tehell 8 3R ATEGH T g 1 AT AU Ifa/del 1
Mg 81 8T A18Y | TEEl g Ueh TN o faeht® JeHT shl 3FHiE o @ B fh,
3 Ui 1 fafafe™t o o4 & e I e 3 Tareey, qiwur 3T fIe &
gt o giand gre 1 i s W fofe gf@ S |
feu U g 9 g 'Y & YR R FEfalad g % IR il

(%) T frel 3 3L &1 Iooi@ g ==t hifST o foh, WA TSR TiEe

AT UTH AT (SAGY) ST ITed <heAT =gl off | 4
(@) SAGY IS o Add g4 T TiEi o ol AFCEl &1 Ieai@
I | 2
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(a) (1) Explain the need and types of land reforms implemented in

the agriculture sector.

(ii)) Why was public sector given a leading role in industrial

development during the planning period ? Explain.

OR

(b) () Explain the reasons why the industrial sector has performed

poorly in the reform period.

(i1)) Distinguish between the Bilateral and Multilateral trade.

Read the following text carefully :

Adoption of Village by Parliamentarians

In October, 2014, the Government of India introduced a new scheme
called Saansad Adarsh Gram Yojana (SAGY). Under this scheme,
Members of India’s Parliament need to identify and develop one village
from their constituencies. To begin with, MPs can develop one village as a
model village by 2016, and two more by 2019, covering over 2,500 villages
in India. According to the scheme, the village can have a population of
3,000 — 5,000 in the plains and 1,000 — 3,000 in the hills and should not
be the MP’s own or their spouse’s village. MPs are expected to facilitate a
village development plan, motivate villagers to take up activities and

build infrastructure in the areas of health, nutrition and education.

On the basis of the given text and common understanding, answer the

following questions :

(a) State and discuss, any two objectives which the Government of

India wanted to achieve through ‘Saansad Adarsh Gram Yojana
(SAGY).

(b)  State the yardsticks for selecting villages under the SAGY Scheme.
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